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¥l z9zmx [ NS | EW | 25z2% | NS | EW | #12 | #10 |#12[#10|#12]#10 || Mean | Ns EW
11| S |None 3HS-1 50 3NE4 430 380 9 EW160 3 7
12| W | NS 4SXE-3 500 3SE-2 100 400 9 NS500 9
13 | N |Both 3NS5 660 3DN4 130 530 1 NS540 3 9
14 | E |None 2NS2 120 3NN-2 100 220 6 EW10 4 3
15| S | NS 2SW2 110 3CN-3 300 190 5 EW130 1 5
16 | W | EW 3DS3 110 2CE4 130 240 6 NS10 3 4
17 | N |None 4HW5 450 6HW6 980 530 1 EW470 1 1
18| E | NS 3NS5 660 3NS3 600 60 2 NS590 2
19| S | EW 3DS-1 50 4HE-1 100 150 4 EW290 6 -9
20 | W |Both 2HW2 110 2HW4 170 60 2 EW140 1 1
@3 IMP|61 | 4 24 | 40
#% 12 2 2 guto pay |10 PHEAVEN # %
* B INP 61 4
&3 MNP 61 4 .
& H-VP 20.00
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NS (P0) NS (%0)
ew w0 22 |Table 11| 15 o0
B# DL |+ MEE M E ik REAA | COP Datum
EXHZ S NS EW EXHZ S NS EW || #22 | #15 | #22 | #15|#22|#15 Mean NS EW
11| S |None EW160
12 | W | NS NS500
13 | N [Both NS540
14 | E |None EW10
15| S | NS EW130
16 | W | EW NS10
17 | N |None EWA470
18 | E | NS NS590
19| S | EW EW290
20 | W |Both EW140
B3 P
#r || 22 % 15 RiEall in
* B IMP
&3 IMP
B H-VP 10.00 10.00
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